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 التمرين الأول

Al(s)(H
+

(aq)+Cl
-
(aq)) 

t=0 m =1,1gV= 50 mL 

C0=0,6 mol .L
-1 

1 (Ox/Red)(Al
3+

(aq)/Al(s))(H
+

(aq)/ H2 (g)) 

-  

-  

2. .  

3  

4  

5 xt𝑯𝟐
VM 

201816141210864 2 0 t(min)

720710690660620560490390270 140 0 V(𝐻2)mL

x(mmol)

6  

7 xtx=f(t) 

1cm→2min1cm→1m mol 

M(Al) = 27g/molVM=24 L/mol 

التمرين الثاني 

    (S1)(K
+

aq+MnO
-
4  aq)

CH4O30°C

 t = 0V1 =100mL(S1)C1= 0.2mol/L 

2mL 0,32 /g mL  

1  

4MnO4
-
(aq)+ 5CH4O(l) +12H

+
(aq) =  4Mn

2+
(aq)  +5CH2O2(aq) +11H2O(l)

(m mol) 

0

x 

xmax

.1 3 
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x=f(t) 

2. t1/2

 

3. t1=0s 

t2=80s 

4 

 

5 

15°C

x= f(t) 

التمرين الثالث  

1 ( 𝑰𝟓𝟑
𝟏𝟑𝟏 )N0t=0

 

 ( 𝑰𝟓𝟑
𝟏𝟑𝟏 )

2 =130, 9785u     1u  931 ,5MeV    ( 𝑰𝟓𝟑
𝟏𝟑𝟏 )mp = 1.00728u    mn = 1.00866u     m

 m

 

 Elξ

3 131 β 

 β؟  

 

𝑺𝟓𝟏
𝟏𝟐𝟕 𝒃 , 𝑻𝟓𝟐

𝟏𝟑𝟏 𝒆   , 𝑰𝟓𝟑
𝟏𝟑𝟐 , 𝑿𝟓𝟒

𝟏𝟑𝟏 𝒆. 

4 N=f(t) 

  NN0λt 

 t1/2 

 τ λ

 

 A0

 

 

 

 

 

 

 

.2 3  

 

x( mmol) 

t(s) 

N ×10
12

 noy 

t(jour) 

 32g /mol  M(CH4O) =الكتلة المولية الجزيئية للكحول
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التمرين الرابع 

V1=50mL 𝐻2𝑂2

C1= 4,5×10
-2

 mol/L V2=50mLK
+

(aq) +I
-
(aq) C2=2,0×10

-1
 mol/L

I2(aq) 

t titV=10ml

1 10mL 

2  

3  

 I2(aq)

(2Na
+

(aq)+S3O6
2-

(aq))C3=0,1 mol/L

4 

5  

(S4O6
2-

(aq)/S2O3
2-

(aq))  و(I2(aq)/I
-
(aq)) 

6  

7  

C3V

 VE

3 3  

 

x( mmol) 

t(s) 


